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Конкурс по английскому языку для учащихся 5-6 классов 

«Основы английского» 
Задание 1 (10 баллов) 

 

Give short answers to the questions of Jane's mother. 

Jane: I know English alphabet very well! 

Jane's mother: Oh, do you? Let's check it! 

1. What's the fourteenth letter of the alphabet?  

2. What's the seventh letter from the end of the alphabet?  

3. Make a 4-letter word using the first, twentieth, second and fifteenth letters of the alphabet.  

4. How many different letters are there in the word different?  

5. Make two words that end with the eighteenth letter of the alphabet.  

6. Which letters in the word elephant come between D and P in the alphabet? 

7. Which letter in the word skirt is furthest from N in the alphabet? 

8. Which letter comes twice in camera but only once in mistake? 

9. How many different vowels and consonants are there in the word interesting? 

10. What is the position in the alphabet (first, second, etc.) of the middle letter in the word 

chocolate? 

11. Which letter is halfway between the fifth and fifteenth letters of the alphabet? 

12. Arrange the following words in alphabetical order: card, comb, carrot, cream, coffee. 

13. Which letter in the word hair is closest to N in the alphabet? 

 

ОТВЕТ: 

1. Четырнадцатая буква алфавита – N.  

2. Седьмая буква с конца – T.  

3. Из первой, двенадцатой, второй и пятнадцатой букв складывается слово BOAT.  

4. В слове “different” используется 7 различных букв алфавита: d, i, f, e, r, n, t (f и e 
используются дважды).  

5. Здесь каждый из вас привел свои варианты слов, оканчивающиеся на 18 букву алфавита 

- R. Например: father, mother.  

6. Из слова elephant в алфавите между буквами D и P идут буквы EHLN.  

7. Из слова skirt самой дальней буквой от N будет буква T.  

8. Буква A дважды встречается в слове camera и только раз в mistake.  

9. В слове interesting встречаются 2 различных гласных (i и e) и 5 согласных (n, t, r, s, 

g).  

10. Буква O находится ровно посередине слова chocolate, и она пятнадцатая в алфавите 
по счету.  

11. Буква J ровно посередине между пятой и пятнадцатой буквой.  

12. Этот пункт показал, как хорошо вы ориентируетесь в построении английского словаря. 
Предложенные слова будут идти в следующем алфавитном порядке: card, carrot, coffee, 
comb, cream.  

13. Буква R ближе всего в алфавите к N из букв слова hair.  

 

Задание 2 (10 баллов) 
 

Look at this information about Jim. Write questions about him and answers. Use 

verbs in the present or past. 
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ОТВЕТ: 

2) – Where does Jim live? – Jim lives in Wales.  

3) – What does Jim do for a living? – Jim is a student. (Также мы принимали ответ What does 
Jim do?)  

4) – How many subjects does Jim study at school? – Jim studies 12 subjects at school.  
5) – What does Jim like to do/doing? – Jim likes playing football and computer games.  
6) – Where did Jim go for his last holiday? – Jim and his family went for 2 weeks to Scotland last 

summer.  
7) – Where did he (they) stay? – They stayed at the hotel in the mountains.  

8) – What did he (they) do on holiday? – They did lots of walking on holiday. 

 

Задание 3 (10 баллов) 
 

Divide the list of animals into two groups: domestic and wild animals. Remember 

that a domestic animal is one that is kept as a pet or on a farm. 
 

RACCOON, SWINE, GOAT, DOG, FOX, WOLF, 

GUINEA PIG, BEAR, CHICKEN, TIGER, HIPPO, 

CAT, HORSE, CHEETAH, OX, SHEEP. 

ОТВЕТ: 

Wild  Domestic  

raccoon  dog  

tiger  Guinea pig  

fox  horse  

bear  ox  

hippo  swine  

cheetah  sheep  

wolf  goat  

chicken  

cat  

 

Задание 4 (10 баллов) 
 

Put all domestic animals from the previous task into plural form. 

F.e.: rabbit – rabbits. 

 

ОТВЕТ: 

Dog – dogs  

Guinea pig – Guinea pigs  

Horse – horses  

Ox – oxen  

Swine – swine  

Sheep – sheep  

Goat – goat  

Chicken – chickens  

Cat – cats  

 

Задание 5 (10 баллов) 
 

Put verbs in brackets into a suitable past tense.  

Bill 1………. (work) in a factory, and 2……….. (come) home at half-past six every evening. He 

3………. (come) home early last Friday, and he 4……….. (be) very angry. He 5………. (shut) the 

door, 6……….. (go) into the living-room and 7………. (sit) down. 

His wife 8……… (be) in the kitchen. She 9………. (come) up to her husband and 10……… (look) 

at him for a few seconds. Then she 11 ………. (ask): “Why are you angry, Bill?” 

“Bus tickets 12…………. (cost) three pence last week, but now they cost two pence,” he 

13………. (say). 

“But that isn’t bad, Bill,” his wife 14 ……… (say). “It’s good. Going by bus is cheaper now.” 

“Yes, it is,” Bill 15………. (say), “but I always walk to work in the mornings, and I walk home 

in the evenings. Last week I 16……. (save) six pence every day, but now I save only four pence.” 
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ОТВЕТ: 

1. worked  

2. came  

3. came  

4. was  

5. shut  

6. went  

7. sat  

8. was  

9. came  

10. looked  

11. asked  

12. cost  

13. said  

14. said  

15. said  

16. saved 

 

Задание 6 (30 баллов) 
 

There are lots of films and cartoons about different superheroes with various 

superpowers nowadays. We think that any of you had a thought “what if…”. What if I 

had this or that super ability?  

Let's imagine it is real! What kind of a superhero would you like to be? What 

costume could you wear? What superpower(s) do you have? 

Start your work with: “On the one hand I'm an ordinary boy/girl…”.  

(Not less than 150 words). 

 

ОТВЕТ:  

оценивалось разнообразность конструкций, отсутствие грамматических и 

орфографических ошибок, соблюдение условий задания. 

 


